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Perimeter and Area of Similar Figures

VOCABULARY DEFINITION

EXAMPLE

If two polygons are similar with
lengths of corresponding sides ifA
the ratio of a:b, then the ratio of
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THEOREM 11.7
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EXAMPLES: Billboards A large rectangular billboard is 12 feet high and

In the diagram, AABC ~ ADEF.
Find the Indicated ratio.

27 feet long. A smaller billboard is similar to the large
billboard. The area of the smaller billboard is 144 square

c__ 6 A feet. Find the height of the smaller billboard. A
s , ¢
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K b b D 9 2144 ‘ h=8 H' Radic S1das = Sides
b. Ratlo (shaded to unshaded) 2 =24
A=12(27) =3 h
of the areas —_ hW=9%
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.3_ Hhon o -2 = _‘3_ Stop sign A stop sign rug is a regular octagon. Each side is
B A ‘+ 2 feet and the area is about 19.3 square feet. You make

Rectangles | and Il are similar. The perimeter of
Rectangle | is 48 inches. Rectangle Il is 30 inches
by 18 inches. Find the area of Rectangle I.

a stop sign mat with a perimeter of 72 inches. Find the
area of the mat to the nearest tenth of a square inch.
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